Halit Celik

A(DEF) _ qky + pzx

A(ABC) (p+q)(k+2)(z+y)

ispat::
A(ABC)=S, A(ADE)=S4, A(BDF)=S,, A(CEF)=Ss olsun. A(DEF)=S — (S1 + S, + S3) olur.
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S :%(k+z)(x+y)sinC ve sinC :L olur.
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S5 :%yzsinC:lyz 25 Sz lur.
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Toplanirsa

S1+Sz+S3:S{ 4 + Pk + Yz }
(p+x+y) (p+g)k+z) (k+z)(x+y)
:S{kqx+qxz+pkx+pky+pyz+qyz}
(P+g)k+z)(x+y)

Her iki taraf S den cikarilirsa birinci taraf A(DEF) olur. Yani

A(DEF):S_S{kqurqszrpkx+pky+pyz+qyz}

(p+@)(k+z)(x+y)
A(DEF) :l_kqx+qxz+pkx+pky+pyz+qyz _
S (+@)(k+2)(x+y)
_ pkx+ pky + pzx + pzy + qkx + gky + qzx + qzy — kqx — qxz — pkx — pky — pyz —qyz
(p+q)k+z)(x+y)
A(DEF) pzx +qgky

A(ABC)  (p+q)(k+2)(x+)

Olarak bulunur.



